k]
B

70

60

50

40

30

20

B R(5)

02468 ]10[12[14]16
——FEEm 06| 81011 [11]15]19]23

18(20]22(24|26)|28|30)32|35](38
2312933353941 )47|55(59]66

—O—#l oJo]s]r]14a]20]22]26]32]34]36]38]42]42]46]51]55]59]6
<EEE>
1Q: FlR, BEEENRECR-LERFALBREERS, FUESEOHL#ITAADEUNIVFE

HITBLS1THD, BYUAGHSHFWEA—INIA— T4 Tz REHITDESEFN LA 8 ( F LD

BRTHE, BEEMEI-14FLUTIQRT,
2Q: HI#5, #11,
T4 TTRBICHH S LBRITOEN ALY,
23—327FILTHIF EHRYERT

3Q: BEAEHE#HID RS T, #14OLAT v TS LIDRNEEHDD2HHH.

SV, PRICHFL#12, #1TOAEBERK,
35—42%!1.1’6?-%&77}- B—~,
 FRICASEEH#IOS Yy T a—

b AT A=A LDERTRENEEH. HYIN.

#ITDEHEBRATY—FELITS, ATIBEEEEHDTS Yo Toa— bk, #8DF
SHIZ, FUEHEITOV NI Y FH L EHKRSR,

BASE

WL — FEEF

BESE#I0D YNNI FTRENGALLBEVEE, BEEH

el Alr:i]

:uuﬁ#w)s P CHEIZHINT %, mIUL AT L LA, #1TORK., #120PTHHE, AESHEIEREEIC
BRI BEOIC. F4LT7 I EED, V—FFzoP0&BYERTEH. BYSH THETE#SAPERY.

55-55M R, ERIZEAT B,

. BAESEEASDPEFIL#12A5T 7 —

OT 1 :#HWH#I, BATE#INS Yy T a— b TEEWNIEA
. BBELGD, TOFEFI—V—HF—LHHEEOT 2,
OT2 : BATED#4, #8DEY I &O—ILML T 7—ILEZL.

Y. 66—61 THASEEABHEEAL,

BF—LEBITRE—F - RXUHKS, ABLIH

7)—AO—THR. TANROF L

ETH-T=,

(KERTILARPEE ER B’F

FHAEE REARPRERR
[ EAT—2% |
57 ST4ETR1TH 11:40 BA%R
RAE 215 ecowinFE7 ) —7 Aad— E3HE
E: T BB Bl FH & TR Mt
11 1Q 14 N
* 12 2Q 18
&Em 66 12 3Q 10 61 LA
i Ak 20 4Q 13 A
11 oOT 6 -
=gt
&5 K& BR 3P 3P 2P 2P FT FTE % 3:] DF. RE OF. RE REEH
O| 4| EB X 26 2 20 10! 21 1 4 1 5
ol 5| wE #E 2 3 1 1 1 2
6 | mm 2 3 5
1| Ik B 2] 1 3 3 1 3 3 [§
Ol 8| £& K& 30 1 7 8 25 11 16! 5 4 9|
9| mx s
O| 10| HF &KX 6 1 3 9 1 9 7 16}
IEEE W
o 12| 1E BA
13| mE p—
14| BX H# 2] 1 6 3 3 3 [§
5] B EE
6] % ZE
17] B e
18] sEk mu
3—7| BEEzA
= it 66 3 32 23 70 11 19! 12| 25 19 4.
B Th E 9. 4% 32. 9% 57.9%
il
&5 K& BR 3P 3P 2P 2P FT FTE % 3:] DF. RE OF. RE REEH
4| am mX
O| b |Hat #BD 5 3 2 6 1 2 3 3 2 5
6| m/m B
1| m s
Ol 8 fEEH B 3 3 1 1 2
9| e mm
10|B8E g@en
O 11 FE I&ﬂl 22 7 10! 27 2 2 1 3 1 4]
Q12 %k —5 14 1 5 5 14 1 3 5 5 4 9
O 13 s 8 6 3 12 2 2 2 2 3 5
14| HE m
15| @ ZEH
16 FI K
171y T -noy 12! 6 8 2 8 4 12}
18|y 7 TEY 1
J—F | BX T—
= it 61 1 21 26 Al 6 9 16| 22 15 37
B Th E 4.8% 36. 6% 66. 7%




